Shock Guard TGF Series

| Features |

High accuracy

Minimal backlash and excellent resetting
accuracy make it ideal for indexers.

The mounting surface accuracy of the output flange is excellent,
making it ideal for direct mounting to indexing tables.

One-position design

The balls and pockets, which transfer the torque, are arranged
in a unique way in which they engage in only one position.

Easy torque adjustment

The torque scale allows easy torque adjustments.
(See page 59.)

Automatic reset

After removing the cause of overload, the TGF Series
automatically re-engages by rotating the drive side.

TGF
Type 2 A timing pulley can be directly mounted. The shaft-
e securing set screw can be tightened from the outside.
Thinner than Type 2 and ideal for mounting a
Type3 Power-Lock.
The Echt-Flex coupling provides an angular
Type 5 )
tolerance. Parallelism errors are not allowed.
Type 7 The ECi:lt-FIeX coupling provides angular and
parallelism tolerances.

I Structure and Operating Principles

TGF20 to TGF45

@ Hub Thrust bearing
@ End nut (> Set screw
(® Set screw
@ Drive plate
® Slide plate
(® Adjustment nut
@ Coil spring
Drive ball

(steel ball A)
(® Snap ring
Set screw
() Steel ball B
(12 Steel ball C
@3 Housing

TGF65 to TGF90
(@ Spring holder
Bolt

L Lats © Coil spring
N ‘ e .0 Drive ball
(steel ball A)
@ Bush (TGF65 only)
(@ Snap ring
® Hub (3 Set screw
@ End nut Radial bearing
(® Set screw @ Thrust bearing A
(@ Drive plate Thrust bearing A
® Slide plate @ Housing

(® Adjustment nut Thrust bearing B

TG F20 to TG F45 The principle of operation is the same for TGF65 and TGF90.

During normal operation (engagement)

Drive ball (steel ball A) Slide plate

Pocket

4o AN

Torque is transmitted from the hub > drive ball > drive plate (or vice versa).

Sprockets and timing pulleys are bolted directly to this drive plate.

The hub flange has several holes to hold the drive balls.

There are pockets on the drive plate where the drive balls are pressured
by coil springs via the slide plate to transmit the torque.

49

During overload (tripping)

When an overload occurs, the drive balls push the slide plate toward the coil
springs. The drive balls, while rotating, pop out of the pockets of the drive
plate to release the driving force.

At this time, the housing moves toward the coil springs. The amount of the
housing’s travel is detected by a TG Sensor or a similar device. This makes
it easy to automatically stop the drive source after an overload.

@ How to reset

Restarting operation after an overload allows the drive balls to automatically
return to their positions within one revolution.

The TGF Series repeatedly resets if it is continuously rotated after an
overload. Therefore, detect overloads using a TG Sensor or a similar device
and shutdown the drive source immediately.



Model Numbering Example

M Single-unit type

TGF20-L2-TH20JD2-N19

New model numbering WAGXeI¥-Velq| P2A 0k k<]

WARNNNN

" Shock -
Series Size ST Type Guard o Bore dia. SGREY Set Sl [pesleli . Torque range
strength see tolerance tolerance (seen from adjustment nut side)
DO D2 (standard)
90°
20
Shown in
30 L: Weak F:F7 J: New JIS Js9 bs b4 N-m units.
o 120°
2: Type 2 diaBrT?erteerS N e Torque [ess than
TGF 45 | M: Medium T G:G7 ; P: New JIS P9 TR BEEE
arein 1 mm to one decimal
3:Type 3 increments. place
65 H: Strong H:H7 F: Old JIS F7 D5 * Specify torque
o0° range only if
required.
90

M Coupling type

TGF20-L5-TH20PD2XCH30PD2-N18

ANN

Bore tolerance,

Bore tolerance, bore dia.,

: Shock bore dia., .
Series Size il Type Guard keyway tolerance, Coqpllng keyway tolerar\f:e, Torque range
strength . " side set screw position
side set screw position (seen from coupling hub end)
(seen from adjustment nut side)
DO D2
90°
20 Same as
single-unit
30 L: Weak b3 o4 type
5: Type 5 & =
TGF 45 M: Medium T Same as single-unit type C * Torque less than
10 N-m is shown
7:Type 7 to one decimal
lace.
65 H: Strong D5 (Standard) e
90°, * Specify torque
range only if
90 required.

50



Shock Guard TGF Series

Transmission Capacity and Dimensions

B TGF20- [ ]2/ TGF30-[ 2/ TGF45- ]2 Type 2
%i@ %@ ®H GO (9
6-N Grease supply port 1-V \ \ 2-Q through
PC.D.¢G \ 2x90
4 . . | 7§fﬁ f
?za
©| X
4939 +———- @—%&[éa‘és ® Hub
N @ End nut
@ Set screw
@ Drive plate
— | ® Slide plate
(® Adjustment nut
y @ Coil spring
2P
2x18 Drive ball (steel ball A)
O Hole for nut tightening (© Snap ring
C U Travel due to overload Set screw
B T D @) Steel ball B
0 A 2 Steel ball C
3 Housing
Thrust bearing
@ Set screw
Unit: mm
Number S
Model no. |Torauerange) Max. |- o T win. | Max. | A | B | c || e | F .S 1]
N-m rpm ) ) i ) PCD.| h6
springs | bore dia. | bore dia. | bore dia.
TGF20-12 6.0to 20 2
TGF20-M2 12t0 40 900 4 8 10 20 55 9 | 35|23 81| 80| 70| 57| 51 98
TGF20-H2 2410 80 8
TGF30-12 10to 74 2
TGF30-M2 20to 147 | 740 4 10 12 30 80 | 11 55|39 | 103 ]100| 90| 75| 69 |130
TGF30-H2 40 to 294 8
TGF45-12 30to 156 3
TGF45-M2 60to 313 600 6 20 22 45 95 | 14 | 7.0| 46 | 142 [ 140 | 125|100 | 92 | 165
TGF45-H2 120 to 568 12
N (@) P Q 2 w Mass™ Moment of | Allowable
Model no. K L M [Screw dia. | Number - hole dia. | Screw dia. | Screw | R** T U |Screw dia. | Screw dia. k inertia*® | radial load
x depth x depth x length | dia.** x depth | x length 9 kg-m’ N
TGF20-12
TGF20-M2 75| 70| 33 | M5x9 | 4-¢p5x6 |M4Ax12 | M5 | 5 3 1.2 | M4x8 — 1.4 | 0.00108 1300
TGF20-H2
TGF30-12
TGF30-M2 98 | 92| 48 | Méx11 | 4-¢7x7 |M6x15| M6 | 5 4 1.8 | M4x8 — 3.3 0.00435 3100
TGF30-H2
TGF45-12
TGF45-M2 132 | 124 | 66 | M8x13| 6-¢p7x7 | M6x20| M8 | 8 4 | 2.2 | M4x8 - 6.7 | 0.0165 3900
TGF45-H2

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.

*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. Mass and moment of inertia are based on the maximum bore diameter.

Note: Contact a Tsubaki representative if you want to use the Shock Guard at a torque range lower than listed in this catalog.
When installing a pulley or sprocket, use high-tensile bolts (G10.9 or higher) and determine the length carefully so that the bolts are not buried deeper than the
mounting tapped hole depth N.

51



Transmission Capacity and Dimensions

W TGF65- [ ]2/ TGF90- [] 2 Type 2
@® ® @ @ @ ® @ @®
2-Q through
PC.D.6G 2x90
- S 4 — R
I @ Hub
: @ End nut
© (® Set screw
o e = [ o2 3 3 %= @ Drive plate
9 ® Slide plate
(® Adjustment nut
(@ Spring holder
® Bolt
o Y N © Coil spring
Drive ball (steel ball A)
() Bush
2P\ 6W @ Snap ring
2x180° 3 Set screw
O Hole for nut tightening Radial bearing
c U Travel due to overload @ Thrust bearing A
B T D Thrust bearing A
@ Housing
A
@ Thrust bearing B
Unit: mm
Number S
Model no. | 1orauerange| Max. |- o T Min. | Max | A | B | c | D | e | F|.CI A 1]
N-m rpm ) ) ) : PCD.| hé
springs | bore dia. | bore dia. | bore dia.
TGF65-12 5010 269 3
TGF65-M2 100to 539 | 430 6 30 32 65 120 | 15 7 | 56 [187|185| 165|140 | 134|210
TGF65-H2 200101078 12
TGF90-12 300101225 3
TGF90-M2 600 102450 | 330 6 45 47 90 170 | 23 9 93 | 252|246 | 2151175 (170|280
TGF90-H2 1200 to 4900 12
N (@) P Q vV w Mass™ Moment of | Allowable
Model no. K L M [Screw dia. | Number-hole dia. [ Screw dia. | Screw | R** T U |Screw dia. | Screw dia. k inertia** | radial load
x depth x depth x length | dia.*® x depth | x length® 9 kg-m’ N
TGF65-12
TGF65-M2 175 | 167 | 106 |M10x17 | 6-¢7x12| M6x20|M10| 10 | 5 | 2.7 — M10x20| 16 0.0678 30000
TGF65-H2
TGF90-12
TGF9O-M2 | 243 | 233 | 150 |M16x20| 6-¢ 12x15 [M10x30 | M12| 10 8 |50 — M12x35| 37 0.267 33000
TGF90-H2

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.

*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. TGF65 uses hex cap countersunk screws, and TGF90 uses hex bolts.

*4. Mass and moment of inertia are based on the maximum bore diameter.

Note: When installing a pulley or sprocket, use high-tensile bolts (G10.9 or higher) and determine the length carefully so that the bolts are not buried deeper than the
mounting tapped hole depth N.

52



Shock Guard TGF Series

Transmission Capacity and Dimensions
B TGF20-[ 3/ TGF30- [ 13/ TGF45-[]3 Type 3

R \\\\ A /77

- | ==
__II
o - ® Hub
woul g 5 | I A T e Y @ End nut
©
999 /?l‘ 61 %% ® (® Set screw
@ Drive plate
® Slide plate
— | (® Adjustment nut
o @ Coil spring
2-Q through ® Drive ball (steel ball A)
2x90° y
35180 (© Snhap ring
O Hole for nut tightening Set screw
C U Travel due to overload g ::ZZ: EZ:: 2
By T D @ Housing
A Thrust bearing
(@ Set screw
Unit: mm
Number S
Model no. |Torauerange) Max. |- o T win. | Max. | A | B | c || e | F ST 1]
N-m rpm ) ) i ) P.CD.| hé
springs | bore dia. | bore dia. | bore dia.
TGF20-L3 6.0to 20 2
TGF20-M3 12t0 40 900 4 8 10 20 47 9 | 35|15 81| 80| 70| 57| 51 98
TGF20-H3 2410 80 8
TGF30-L3 10to 74 2
TGF30-M3 20to 147 | 740 4 10 12 30 71 | 11 55|30 [103]100| 90| 75| 69 |130
TGF30-H3 40 to 294 8
TGF45-13 30to 156 3
TGF45-M3 6010 313 600 6 20 22 45 81 | 14 | 70| 32 | 142|140 | 125|100 | 92 | 165
TGF45-H3 120 to 568 12
N (@) P Q 2 w Mass™ Moment of | Allowable
Model no. K L M [Screw dia. | Number - hole dia. | Screw dia. | Screw | R** T U |Screw dia. | Screw dia. k inertia*® | radial load
x depth x depth x length | dia.** x depth | x length 9 kg-m’ N
TGF20-13
TGF20-M3 75| 70| 33 | M5x9 | 4-¢p5x6 | M4Ax12 | M5 | 21 3 1.2 | M4x8 — 1.3 0.00108 1300
TGF20-H3
TGF30-L3
TGF30-M3 98 | 92| 48 | Méx11 | 4-¢7x7 |M6x15| M6 | 37 | 4 1.8 | M4x8 — 3.2 0.00429 3100
TGF30-H3
TGF45-13
TGF45-M3 132|124 | 66 | M8x13| 6-¢p7x7 | Mé6x20 | M8 | 40 4 | 2.2 | M4x8 — 6.5 0.0163 3900
TGF45-H3

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.

*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. Mass and moment of inertia are based on the maximum bore diameter.

Note: Contact a Tsubaki representative if you want to use the Shock Guard at a torque range lower than listed in this catalog.
When installing a pulley or sprocket, use high-tensile bolts (G10.9 or higher) and determine the length carefully so that the bolts are not buried deeper than the
mounting tapped hole depth N.

53



Transmission Capacity and Dimensions

B TGF65- [ ]3/ TGF90- [ 3 Type 3
I /7 ’
Wy
T
@ Hub
@ End nut
° @ Set screw
4y 59 —-— -— 12 33%l = @ Drive plate
9 / LR ® Slide plate
(® Adjustment nut
(@ Spring holder
® Bolt
1NN © Coil spring
2-Q through \ Drive ball (steel ball A)
2x90° ® @ Bush
2P 6-W @ Snap ring
2x180° 3 Set screw
O Hole for nut tightening Radial bearing
c U Travel due to overload @ Thrust bearing A
B T D @ Thrust bearing A
R @ Housing
@ Thrust bearing B
Unit: mm
Number S
Modelno. |'O'® a9 M| ocoil [“piot | Min. | Max. | A | B | C | D | E|F| CGD hI-<I5 1|
B springs | bore dia. | bore dia. | bore dia. T
TGF65-13 5010 269 3
TGF65-M3 1000 539 | 430 6 30 32 65 104 | 15 7 | 40 [187|185| 165|140 | 134|210
TGF65-H3 200 to 1078 12
TGF90-L3 300 to 1225 3
TGF90-M3 600 to 2450 | 330 6 45 47 90 150 | 23 9 | 73 |252 246 | 215|175 | 170|280
TGF90-H3 1200 to 4900 12
N (@) P Q vV w Mass™ Moment of | Allowable
Model no. K L M [Screw dia. | Number-hole dia. [ Screw dia. | Screw | R** T U |Screw dia. | Screw dia. k inertia** | radial load
x depth x depth x length | dia.*® x depth | x length® 9 kg-m’ N
TGF65-13
TGF65-M3 175 | 167 | 106 |M10x17 | 6-¢7x12| M6x20|M10| 49 | 5 | 2.7 — M10x20| 15.2 | 0.0662 30000
TGF65-H3
TGF90-L3
TGF90-M3 | 243 | 233 | 150 |[M16x20| 6-¢ 12x15|M10x30| M12| 75 8 |50 — M12x35| 34.7 | 0.258 33000
TGF90-H3

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.

*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. TGF65 uses hex cap countersunk screws, and TGF90 uses hex bolts. (Hex bolts will protrude a maximum of 7.5 mm from the hub end.)

*4. Mass and moment of inertia are based on the maximum bore diameter.

Note: When installing a pulley or sprocket, use high-tensile bolts (G10.9 or higher) and determine the length carefully so that the bolts are not buried deeper than the
mounting tapped hole depth N.

54




Shock Guard TGF Series

Transmission Capacity and Dimensions

B TGF20-[ |5/ TGF30-[ |5/ TGF45-[]5 Type 5
5@ @ a Grease supply port 1-V A combin.ation of the TGF—2A
2-Q1 through R1 % ? ? R 5-Q throuah and t_he smgle—type NEF Series
2x90° 5290° 9 Echt-Flex coupling
my
I [||[7 ==
397 1o SEEREE
] . e — N
cal—= ( Mounting adapter
— =N @ Coupling hub
3 4N1 5:1 e (® Reamer bolt
(DJO) O Hole for nut tightening @ Washer A
2-P1 U Travel due to overload % \é\{aiher B
is
= : ° @ U nut
L A Socket bolt
Al Cl A2 (© Spring washer
X A3 Set screw
@ Set piece
Unit: mm
Number Shock Guard S Coupling S1
Model no. [1o"\® "9% M. | otcoil “piiot | Min. | Max. | Piot | Min. | Max | A | Al | A2 | A3 | B1 | B2 | CI
m pm springs | bore dia. |bore dia. | bore dia. | bore dia. |bore dia. |bore dia.
TGF20-L5 6.0to 20 2
TGF20-M5 12to 40 | 900 4 8 10 20 15 17 42 55 [33.5| 66.3] 111 (24.5] 14 [11.2
TGF20-H5 2410 80 8
TGF30-L5 10to 74 2
TGF30-M5 20to 147 | 740 4 10 12 30 15 17 60 80 [47.8|102.5/ 162 |33.8| 22 [11.7
TGF30-H5 40 to 294 8
TGF45-15 30to 156 3
TGF45-M5 6010313 | 600 6 20 22 45 25 27 74 95 |57.2|110 | 184 |43.2| 17 |16.8
TGF45-H5 120 to 568 12
NT (@] P P1
Model no. D | El | FI J K L M | Screw dia. | Number - hole dia. | Screw dia. |Screw dia.| Q% | Q1**| R*® | R1**| T u
x length x depth x length | x length
TGF20-L5
TGF20-M5 23 (104 | 61| 98| 75| 70| 33 | M5x20 4-¢p 5x6 MAx12 | M4x6 | M5 | M5 | 5 8 3 1.2
TGF20-H5
TGF30-L5
TGF30-M5 39 (143 | 84 |130| 98| 92| 48 | M6x25 4-¢p 7x7 M6bx15 | M5x6 | M6 | M6 | 5 12 4 1.8
TGF30-H5
TGF45-15
TGF45-M5 46 | 168 | 106 | 165 | 132 | 124 | 66 | M8x25 6-¢p7x7 Mé6x20 | M5x6 | M8 | M8 8 15 4 2.2
TGF45-H5
v w Mass™ Moment of Gl Allowable misalignment®  *1. Contact a Tsubaki representative when
Model no. |Screw dia. | Screw dia. kg inertia*® model no. P Angular Axial using at speeds higher than the maximum
x depth | x length kg-m’ (deg.) rpm.
TGF20.15 *2. Tapped hoIe; for sgt screws are not
_ | processed. Dimensions are for reference
TGF20-M5 M4x8 — 3.0 | 0.00328 | NEF25S | 21 1 1.4 only.
TGF20-H5 *3. Mass and moment of inertia are based on
TGF30-15 the maximum bore diameter.
TGF30OM5 | Mdx8 | — 8.0 | 0.0168 | NEF80S | 29.5 1 1.8 Spacerequiredforthe insertion of a reamer
TGF30-HS *5. The allowable misalignment is the value
TGF45-15 when the other two misalignments are zero.
TGE45-M5 M4x8 _ 13.3 0.0402 NEF130S | 20 ] +2.5 Note: Contact a Tsubaki representative if you
W want to use the Sr.]ock Quarg at a torque
range lower than listed in this catalog.

55



Transmission Capacity and Dimensions

B TGF65- [ 15/ TGF90-[15 Type 5
® 5@ @A
2-Q1 through R1 R 2-Q through A combination of the TGF-2
2x90° \ 2x90° and the single-type NEF Series
\ Echt-Flex coupling
[
N I
EY ot —013 3333

HT - H (® Mounting adapter

=1 @ Coupling hub
| 4N1 2.p 6-W (3 Reamer bolt
10 (8 2x180° @ Washer A
(DO O Hole for nut tightening (6 Washer B
2-P1 U Travel due to overload @ Disk
182 T D @ U nut
BI A Socket bolt
Al c1 A2 ©® Spring washer
x A3 (0 Set screw
@ Set piece
Unit: mm
Number Shock Guard S Coupling ST
Modelno. |'O'® 19| M8 Foceoil “piot | Min. | Max. | Piot | Min. | Max. | A | Al | A2 | A3 | BT | B2 | CI
m pm springs | bore dia. | bore dia. | bore dia. | bore dia. | bore dia. |bore dia.
TGF65-15 5010 269 3
TGF65-M5 10010 539| 430 6 30 32 65 45 47 95 | 120 | 76.2{147.2| 245 |59.7| 22 |21.6
TGF65-H5 200to 1078 12
TGFQ0-L5 300to 1225 3
TGF90-M5 600 to 2450| 330 o) 45 47 90 50 52 118 | 170 |101.6(211.2) 340 |76.1| 35 |27.2
TGFQ0-H5 1200 to 4900 12
N1 O P P1
Model no. D | ET | FI J K L M | Screw dia. | Number - hole dia. | Screw dia. |Screw dia.| Q% | QI**| R® | RI¥*| T U
x length x depth x length | x length
TGF65-15
TGF65-M5 56 (214|137 | 210 | 175|167 | 106 | M10x45 | 6-¢p7x12 Méx20 | Mé6x8 |M10|[M10| 10 | 20 5 127
TGF65-H5
TGFQO-L5
TGF90-M5 93 276 | 169 | 280 | 243 | 233 | 150 | M16x60 | 6-¢p 12x15 |M10x30| Mé6x10 |[M12 [M12| 10 | 30 8 |50
TGFQ0-H5
v W .«| Moment of ) Allowable misalignment*®
Model no. | Screw dia. x | Screw dia. x MT(SS inertia** Coupling X Angular .
depth length*® 9 kg-m’ model no. (deg.) FE]
J
TGF65-15
TGF65-M5 - M10x20 | 30.6 0.153 NEF340S | 19.5 1 +3.3
TGF65-H5
TGFQO-L5
TGF90-M5 — M12x35 | 71.7 0.604 NEF700S | 40 1 +4.0
TGFQ0-H5

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.
*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. TGF65 uses hex cap countersunk screws, and TGF90 uses hex bolts.

*4. Mass and moment of inertia are based on the maximum bore diameter.

*5. Space required for the insertion of a reamer bolt.

*6. The allowable misalignment is the value when the other two misalignments are zero.

56



Shock Guard TGF Series

Transmission Capacity and Dimensions

B TGF20-[ |7/ TGF30-[ |7/ TGF45- 7

Type 7

A combination of the TGF-2 and
the single-type NEF Series

2Qlthrough  RI ? 5 @ @6 1 Grease supply port 1-V Echt-Flex coupling
2x90° R ggét\rough
\ =
—J4d O ] me— —
1] ' | el e
%%ﬁa ffffffffff HH A ——-—- AEREE
— (D Mounting adapter
I Il ] (@ Coupling hub
?ﬂ: D] ] ﬁ | (® Long spacer
i | E— | — @ Reamer bolt
H H LaNT op (® Washer A
\@ 9 2x180° (® Washer B
(@) O Hole for nut tightening @ Disk
2.P1 U Travel due to overload U nut
| B2 | D ® Socket bolt
Bl | C1] |C1 | A Spring washer
Al c2 A2 (D Set screw
X A3 2 Set piece
Unit: mm
Number Shock Guard S Coupling S1
Model no. [T "\® 199 M. | otcoil “piiot | Min. | Max. | Piot | Min. | Max. | A | Al |A2|A3|BI|B2|Cl|C2
m el springs | bore dia. |bore dia. | bore dia. | bore dia. |bore dia. |bore dia.
TGF20-L7 6.0to 20 2
TGF20-M7 12to 40 | 900 4 8 10 20 15 17 42 55 |33.5| 66.3199.8/24.5| 14 |11.2| 100
TGF20-H7 2410 80 8
TGF30-L7 10to 74 2
TGF30-M7 20to 147 | 740 4 10 12 30 15 17 60 80 |47.81102.5|277.3|33.8| 22 |11.7| 127
TGF30-H7 40 to 294 8
TGF45-17 30to 156 3
TGF45-M7 60to 313 | 600 6 20 22 45 25 27 74 95 |57.2(110 (307.2(43.2| 17 |16.8| 140
TGF45-H7 120 to 568 12
NT O P P1
Model no. D | El | FI J K L M | Screw dia. | Number - hole dia. | Screw dia. |Screw dia.| Q% | Q1**| R*® | R1**| T u
x length x depth x length | x length
TGF20-L7
TGF20-M7 23104 | 61| 98| 75| 70| 33 | M5x20 4-¢ 5x6 M4x12 | M4x6 | M5 | M5 | 5 8 3 1.2
TGF20-H7
TGF30-L7
TGF30-M7 39 (143 | 84 |130| 98| 92| 48 | M6x25 4-¢p 7x7 Mébx15 | M5x6 | M6 | M6 | 5 12 4 1.8
TGF30-H7
TGF45-17
TGF45-M7 46 | 168 | 106 | 165 | 132|124 | 66 | M8x25 b6-¢p7x7 M6x20 | M5x6 | M8 | M8 8 15 4 |22
TGF45-H7
% 9% Mass® Moment of Gl Allowable misalignment”  +1. Contact a Tsubaki representative when
Model no. |Screw dia. |Screw dia. s inertia*® model no. X< | Angular paraliel | Axial using at speeds higher than the maximum
xdepth | « length kg~m2 (deg.) 2 'rI'F;m' ed holes for set screws are not
TGF207 - pr::essed. Dimensions are for reference
TGF20-M7 M4x8 — 4.6 | 0.00549 | NEF25W | 21 2 1.6 | £2.8 only.
TGF20-H7 *3. Mass and moment of inertia are based on
TGF30L17 the maximum bore diameter.
TGF3OM7 | M4x8 | — | 119 | 00279 | NEFSOW |29.5 | 2 | 2.0 | 436 +phaceredurediorineinsertion ofareamer
TGF30-H7 *5. The allowable misalignment is the value
TGF45-17 when the other two misalignments are zero.
W M4x8 _ 18.5 0.0616 NEF130W/| 20 2 292 5.0 Note: Contact a Tsubaki representative if you
—_—————— want to use the Shock Guard at a torque
TGF45-H7 range lower than listed in this catalog.

57



Transmission Capacity and Dimensions

W TGF65- []7/TGF90-[]7 Type 7
A combination of the TGF-2 and
?i 7) 6) (@ 1 the single-type NEF Series
2-Q] through ~ R1 R 2-Q through Echt-Flex coupling
2x90° 2%90°
I : &
N N [l
333 +o——fH-————- H ——-—-—- 0|33 %3
(™ Mounting adapter
u M — o @ Coupling hub
H = — U (® Long spacer
i: F-— ] F—— = IR @ Reamer bolt
(® Washer A
| 4-NT 2-P 6-W (® Washer B
(DXC 2x180° o @ Disk
@ O Hole for nut tightening
2-P1 U Travel due to overload U nut
(© Socket bolt
52 r D Spring washer
BI 1 C1] 1l A @) Set screw
Al c2 A2 @ Set piece
X A3
Unit: mm
Number Shock Guard S Coupling ST
Model no. |'O'\® 139 M8 oceoil “piot | Min. | Max. | Piot | Min. | Max | A | Al |A2|A3|B] | B2|Cl|C2
m pm springs | bore dia. | bore dia. | bore dia. |bore dia. | bore dia. |bore dia.
TGF65-17 50t0 269 3
TGF65-M7 100to 539 | 430 6 30 32 65 45 47 95 120 | 76.2(147.21403.4/59.7 | 22 [21.6| 180
TGF65-H7 200 to 1078 12
TGFQ0-L7 300to 1225 3
TGF9O-M7 600 to 2450 | 330 6 45 47 90 50 52 118 | 170 [101.6]211.2562.8/76.1 | 35 |27.2| 250
TGFR0-H7 1200 to 4900 12
N1 O P P1
Model no. D | ET | FI J K L M | Screw dia. | Number - hole dia. | Screw dia. |Screw dia.| Q% | QI**| R® | RI¥*| T U
x length x depth x length | x length
TGF65-L7
TGF65-M7 56 (214|137 | 210 | 175|167 | 106 | M10x45 | 6-¢p7x12 Méx20 | Mé6x8 |M10|[M10| 10 | 20 5 127
TGF65-H7
TGFQO-L7
TGFQO-M7 93 276 | 169 | 280 | 243 | 233 | 150 | M16x60 | 6-¢p 12x15 |M10x30| Mé6x10 |[M12 [M12| 10 | 30 8 |50
TGFQ0-H7
% wW .| Moment of ) Allowable misalignment*®
Model no.  |Screw dia. | Screw dia. x MT(SS inertia** Coupling X*° | Angular 9
x depth length* g kg-m? model no. (deg. Parallel | Axial
TGF65-L7
TGF65-M7 - M10x20 | 41.1 0.223 |NEF340W| 19.5 2 2.8 | £6.6
TGF65-H7
TGFQO-L7
TGF9O-M7 — M12x35 | 98.2 0.899 |NEF700W| 40 2 3.9 | £8.0
TGFQ0-H7

*1. Contact a Tsubaki representative when using at speeds higher than the maximum rpm.
*2. Tapped holes for set screws are not processed. Dimensions are for reference only.

*3. TGF65 uses hex cap countersunk screws, and TGF90 uses hex bolts.
*4. Mass and moment of inertia are based on the maximum bore diameter.
*5. Space required for the insertion of a reamer bolt.
*6. The allowable misalignment is the value when the other two misalignments are zero.

58



Shock Guard TGF Series

Torque Adjustments

1. From the Torque Correlation Charts, read the value of the
torque scale that corresponds to the required torque and then
tighten the adjusting nut (6) to this value. To tighten the
adjusting nut (6), insert a hook spanner or a round bar into the
hole on the outer periphery of the nut and turn it.

Note: When using the TGF30 or TGF45 and high torque (200
N-m or more) is required, use the custom hook wrench (sold
separately).

If you are using the TGF65 or TGF90 and a high torque is

required, loosen the bolt (8) to adjust the torque, turn the l I
adjustment nut (6) to the required torque scale value, lock the T
adjustment nut (6) with the set screw (13), and then retighten

|
i
|
I
TORQUE SPALE x 10%
1 23 4567 8 910

the bolt.
2. After determining the torque value, it is recommended to write Torque scale
it down on the nameplate to ensure that the same torque value
can be set during future overhauls. A more accurate torque Torque Correlation Charts should be used as a rough guide
adjustment can be achieved by marking matchmarks on the only, as the trip torque may not correspond with the chart
nut and hub edge. values.
Torque Correlation Charts
TGF20 TGF30 TGF45
100 ‘ ‘ —10 350 ] 35 700 ‘ ‘ —70
TGF20-H TGF30-H TGF45-H
300 1 a0 600 1 160
80 L
\/ TGF30-M \/ TGF45-M
TGF20-M 250 1o 500 1
E 60 1 = -
é 7( 6 é 200 1o é 400 a0
% TGF20-L g TGF30-L g TGF45-L
g Z 150 Lis|| € 200 1a0
2 40 L4 I © Y
N ™~
\\ 100 +10 200 & 120
™~ ~
20 4+ _— \
~1 | ~ 50 S 15 100 SN +10
~1 ~L_| N ~ |
1 ™~ \\
L
0 Lo 0 Lo 0 Lo
10 9 8 7 6 5 4 3 2 1 0 kgim 10 9 8 7 6 5 4 3 2 1 0 kgtm 10 9 8 7 6 5 4 3 2 1 0 kgfm
TORQUE SCALE x 10% TORQUE SCALE x 10% TORQUE SCALE x 10%
TGF65 TGF90
1200 ‘ 0 5000 50
TGF65-H o T 40
1000 L1ao TGF90-H
\é 4000 < + 40
TGF65-M 50 1 s
800 +80
. . TGF90-M
E E 3000 L300
4 TGF65-L z K
o 600 <+ 60 g 2500\ 4250
g N g N TGF90-L
° N \Z 2 200 + 200
400 1 40
1500 -+ 150
I
~_ 7\ 1000 ] -+ 100
200 ~] 12 - \\
~—1 ™ 50 | Ls
\\\ ~
0 Lo 0 L0
10 9 8 7 6 5 4 3 2 1 0 kgtm 10 9 8 7 6 5 4 3 2 1 0 kgfm
TORQUE SCALE x 10% TORQUE SCALE x 10%

59



Power-Lock Mounting Dimensions

The Shock Guard TGF Series can be combined with the Power-
Lock EL Series.

The maximum applicable sizes of the mounting geometries of the
TGF Series are shown below.

The transmission torques of a single unit of Power-Lock are
shown below. When using multiple Power-Locks, multiply by the
coefficient shown on the right to get the transmission torque.

If you provide us with the dimensions of the shaft and the required
torque, we will assist you in selecting the appropriate product.

Number of units Coefficient
1 1
2 1.55
3 1.85

Mounting Geometry a

Mounting Geometry b

T
e )
T S
o & 1T
- /
ff[E
|
i
TGF Series _ Mounting geometry Tra?jms:ion
size Max. d D P Bolt q
applicable size N-m
TGF20 - — — — — _
TGF30 18x22 18 22 34 | M4x 6 46
TGF45 32x36 32 36 50 | M4x 8 123
TGF65 50x57 50 57 73 | Mé6x 8 419
TGF20 71x80 71 80 99 | M8x10 1560
Mounting Geometry c
T
Q
©
|
i
TGF Series Mounting geometry Transmission
. Max. torque
size . . d D Bolt
applicable size N-m
TGF20 20x25 20 25 M10x1 39
TGF30 32x36 32 36 M 6x3 100
TGF45 45x52 45 52 M 6x8 321
TGF65 65%x73 65 73 M10x4 813
TGFQ0 85x96 85 96 M10x8 2000

3
S
TGF Series ; Mounting geometry Tra;]s:nf:ion
size Max. d D P Bolt d
applicable size N-m
TGF20 - - - - - —
TGF30 | 22x26 22 26 38 |M 4x 6 55
TGF45 | 35x40 35 40 55 |M 5x 6 167
TGF65 | 65x73 65 73 91 |M 8x 8 1140
TGFQ0 | 95x106 | 95 [ 106 | 126 | M10x10| 3390
Mounting Geometry d
N~
I
Q
©
\
i
TGF Series Mounting geometry Transmission
. Max. torque
size . . d D Bolt
applicable size N-m
TGF20 24x28 24 28 M10x1 56
TGF30 36x42 36 42 M 5x6 144
TGF45 50x57 50 57 M 6x8 397
TGF65 75%x84 75 84 M10x6 1260
TGFQ0 100x114 | 100 | 114 M12x8 3450

60



7 Innovation in Motion

> TallBAKI

A PT. MASA JAYA PERKASA

MASA JAY A

V| info@masajayaperkasa.com

JI. Hayam Wuruk No. 76,
LY\ Jakarta Barat,DKI Jakarta 11160

Y (+62)21-649-6496
@ (+62)852-1116-7713



	機械式過負荷保護機器_049_076_E
	Slide 1

